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 
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 


)20-أ -( 
1




2

)2(

)( 

 
 
 
 




 


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 

1 
1.1 
134 
235 

21 
135 
235 

31 


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3


1 

1.1 



 

134 
 

 

 
 


1

 
)

( 
 

2A
B

 
)B 
AB 
( 

 
 

3AB
 

) 
AB 
( 
 

 

A B
F

A B
F

A B

F
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 
4 

 
 )( 
 


 


 
 
235 

 
AB

 

 
1B 
2AB 
3 

 

 

2.1 

135 

 
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235 

 

 

   
 

3.1 


 

h 

 
 
.

1- 

-L وh    ؟ sin.,sin Lh
L
h



2-

 
P αP

R

f

α

h
L
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 
'R 

R  : (

f


R90°
-ج

90° 
180° 

P 

0.)(  hPPWAB


  → 


h
AB LPPW sin..)(     → )

2
cos(..)( 

 LPPWAB


 

)cos(..)( ABffWAB 


      →0..)(  ABffWAB


 
h

hPPW .)(  
 

 
 

hgmhPPWAB ...)( 


 
 
hgmhPPWBA ...)( 


 

 

 

B

A

h
P

A A A

B B B
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 

)20-ب-( 
2




2

)2(

 
1
2 
3






2

2
1 mVEc  







 

2 





 

 

 

 

 

 

 

 

 

 
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

 


 


 
1O

 
 
2MA
 
3VMAW

OA 
WMVk 
 
 

V)(mkW VmkW 2VmkW VmkW 2 22 VmkW V
mkW 

m
VkW 

4
5 

O A

m

M=100g
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9

 

1
 

 
 

. .   .     .       .         .           .             .
2 

F

 
mm 
OA 

3 
V)(mkW  

 


m
VkW 

V
mkW 2 

 

VmkW 22 VmkW 2VmkW VmkW 2 
 

4 
 
 
 
mV , mV2 , m2V , m2V2W 
 

τ = 0.040 ms           F = 1N          m = 320g

. .   .     .       .         .           .             .
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M7M6M5M4M3M2M1الموضع
0.1390.1040.0750.0500.0300.0150.005d(m)
0.1390.1040.0750.0500.0300.0150.005W(J)
0.9360.8000.6880.5630.4380.3130.188V(m/s)
0.2300.2560.2200.1800.1400.1000.060mV
0.2800.2050.1510.1010.0610.0310.011mV2

0.0960.0820.0700.0580.0450.0320.019m2V
0.0530.0660.0480.0320.0200.0100.004m2V2

0.4960.50.4970.4950.4910.4830.454w/mv2

 
WmV221 

2
1)(

2 mV
FW



2.

2
1)( VmFW 


 

5

AEcFWEc  )(0




00 Ec 

AEcFW )(


 
 

2

2
1)( mvEcFW 


 

 
 

mV 
 

 
 
 

Wm

EC0

ECA

الجسم

2

2
1mVEc 

mJ m/s


